	
Additional file 9. Estimate of number of times cells in the growth zone of the hatchling would need to divide to produce all the new segmental tissue. Area of the growth zone of the hatchling is assumed to be a trapezoid and the length of the growth zone measured in cells is multiplied by half the sum of the anterior and posterior width of the growth zone, to reach an estimate of 325 cells. Then, length and width in cell diameters of each newly added segment is used to calculate the area of the new segment (as a rectangle). These are summed over all stages measured and the resulting number used to calculate how many times on average the cells of the initial growth zone would need to divide to produce all the new tissue.
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image2.tiff
Sum of all new cells divided by the cells in the initial growth zone divided by 2 (since each division produces two daughter cells)

4h 5h 6h 7h 8h 9h | 10h | 11h | 12h | 13h | 14h
21.22|121.19(18.47(16.75|19.73|18.32| 18.09(16.40

age (h) Oh 1h | 2h | 3h
Mean last segment width A (cells) | 24.88 |21.19|21.79(21.92(22.79(19.24|20.14

3.41[3.51[3.32[332)329)|3.04|273 253227260
70.31/60.69(50.85(53.80(46.33|41.12|42.64

Mean last segment length (cells) | 533 [4.31|4.07 | 4.10 | 3.67
calculated area of last seg (cells) | 132.69 [91.29(88.71|89.87(83.57[65.69|70.71|70.54

calculated total GZ cells needed |1058.80
to produce new segments (at time
of addition)

ions required 1.63

calculated #




